
I.D.:	56126173

Servicii	de	reparare	si	intretinere	excavator

Data
publicarii

16.04.21 Coduri	CPV 71631100-1

Pretul
estimativ:

34.613,85	RON	-	34.613,85	RON 	 	

Descriere: Achizitie	:	1.Materiale:	Electrozi	inox	3,25	–	3buc,	Solut	curatat/1l	-	4	buc;Colier	plastic	negru
4,7x285	–	45buc;	teava	patrata	120x120x4	–	1buc,	Bolt	siguranta	1buc,Splin	4buc,	Cruce
cardan	1buc	,	Grund	0,7l	-	0,5buc,	Sol.	spalat	1buc,Surub	m10x100	10*9-	2buc,	surub
m12x30	–	10buc,	saiba	fi12	–	16buc,	saiba	fi	d12	2buc,	surub	m10x60	10*9	–	3buc,
piulita3buc,	saiba	fi	10-	6buc,	colier	plastic	negru	7,8x540	–	10buc,	surub	m8x20	–	1buc,
saiba	cu	garnitura	–	1buc,	saiba	cu	garnitura	1buc,	saiba	cu	garnitura1buc,	saiba	cupru	–
4buc	,	cupla	rapida	fi6	-3buc,	cupla	rapida	fi8	-2buc,	cupla	rapida	fi12	-1buc,	furtun	aer	fi6	-
1buc,	furtun	aer	fi8	-2	buc,	furtun	aer	fi12-1buc,	surub	m10x30	-8buc,	piulita	autobocanta
m10	-10buc,	supapa	m22-1buc,	lichid	frana	dot4/0,5l	-3buc,	piulita	m20	10*9	-2buc,	surub
m8x30-	2buc,	saiba	fi	d8	-2buc,	arc	readucere	lacat	franare	-2buc,	furtun	combust	fi8	-5buc,
colier	10-16-	2buc,	filtru	ulei	-2buc,	filtru	hidraulic1buc,	ulei	hidraulic	h46	q8-115buc,	spray
detectare	fisuri	400ml	-0,35buc,	o-ring	metric	2,5x13,3	-3buc,	ro/spray	degripant
sup.rap.s410	-1buc,	o-ring	metric3buc,	o-ring-4buc,o-ring	metric	2,5x12	-2buc,	o-ring	3x14	-
1buc,	surub	m6x20	-2buc	,saiba	d6	-2buc,	piulita	autoblocanta	m6	-2buc,	cupla	rapida	4-6	-
1buc,	solutie	spalat	m	-20buc,	garnitura	2buc,	pompa	hidraulica	1buc;	2.	Manopera:
conform	descrierii	ofertantului


